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Note: 
1. All questions are compulsory 
2. Assume suitable data whenever necessary 

Q.No.1. 	(A) What is Gaussian Process? 
	

[1] 

(B) Write the probability density function of multivariate gaussian distributed random variables. [2] 

Q.No.2. 	What is the unbiased estimation of expected value for the case of non-random parameter? 
	

151 

• Q.No.3. 	Discuss the Bayes estimate of Random Parameters for the following type of error function: 

(A) Mean-square Error. 

(B) Absolute Error. 

(C) Uniform cost function Error. 	 [6] 

Q.No.4. 	What are the Characteristics of Queuing System? Discuss it in detail. 	 [5] 

Q.No.5. 	Discuss the long run measures of performance of queuing system 	 151 

Q.No.6. 	Discuss the following technique for random number generation: 	 [5] 

(A) Linear Congruential Method 

(B) Combined Linear Congruential Method 

Q.No.7. 	What is additive white gaussian noise (AWGN). Find out the bit error rate (BER) of binary phase shift 

keying (BPSK) modulated signal for wireless communication system under AWGN. Also compare its 

performance with wired communication system when data modulation is BPSK, and noise is AWGN. 	[5] 

Q.No.8. 	Discuss the statistics of the complex fading coefficient h in reference to wireless communication. 

Find out the probability density function for the amplitude and phase factor of the fading coefficient h. 	161 

Q.No.9. 	Discuss random variate generation for Geometric distribution case by taking any suitable example. 
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Q.No.10, 

A real-valued Gaussian random vector X = [X1  X, X311 T has a..) 
	

distribution, such 
that 
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then find A, B, C. 
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